Best model for HELP J103721.223+590355.020 at z = 0.591 x?=1.09
OPTx?=0.96 IRx?=2.07 threshold (OPT IR)=12.72 [um]

102 5
E Stellar attenuated
fffff Stellar unattenuated
. —— Dust emission
1] . —— AGN emission
10 E . m = Model spectrum
® Model fluxes
] [ Observed fluxes
— 100 4
> ]
c ]
X _
510 15
[N ] o g——
1 !.vg.é",'\fl-nn\_ﬂu."h ’
-2 :
1072 - <
§0—3 4
= A
= ==f=(Obs-Mod)/Obs
=}
S
n
O OQfF==—=yigpr=—of o et e e e ————
o ]
) ]
2 ]
S ]
o -1 T —————  CGAL
()
[a'd

10° 10! 107 103 104 A
Observed wavelength [um]



